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Direction 1 - 5 : 1 In the following passage, some
words have been deleted. Fill in the blanks with the
help of the alternatives given. Select the most
appropriate option for each blank. Communication
is a connection between people sharing
information with (l) other. It is important
in everyday life, (2) _ ___ __ work and nearly any
time you interact with other (3) ______
Communication issues don’t always happen
(4)______ of your English level. The truth is, you
can know how to speak English (5)______
knowing how to communicate in English.

Q:1 Select the most appropriate option to fill in
blank number 5.

1. devoid

2. minus

3. lacking

4. without

Q:2 select the most appropriate option to fill in
blank number 4.

1. about

2. because
3. since

4. beside

Q:3 Select the most appropriate option to fill in
blank number 3.

1. creatures
2. ones

3. animals
4. people

Q:4 Select the most appropriate option to fill in
blank number 2.

1. from
2. while
3.at
4.0n

Q:5 Select the most appropriate option to fill in
blank number 1.

1. every
2. some
3. each
4. one

Directions 6 - 10 : In the following passage, some
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words have been deleted. Fill in the blanks with the

help of the alternatives given. Select the most

appropriate option for each blank.

Man-made fibre, is fibre whose chemical

composition, structure, and properties are

significantly modified during the manufacturing

process. Man-made fibres % spun and

woven into a large (2)______ of consumer and

industrial products, (3) _ _ _ ___ garments such

as shirts, scarves, and hosiery; home furnishings

(4)______ as upholstery, carpets, and drapes;
______ parts such as tire cord, flame-

proof linings, and drive belts.

Q:6 Select the most appropriate option to fill in

blank 5.

1. industrial

2. industrialised

3. industry

4. industrialist

Q:7 Select the most appropriate option to fill in
blank 4.

1. much
2. more
3. such
4.s0

Q:8 Select the most appropriate option to fill in
blank 3.

1. counting
2. wrapping
3. showing
4. including

Q:9 Select the most appropriate option to fill in
blank 2.

1. number
2. figure
3. extent
4. total

Q:10 Select the most appropriate option to fill in
blank 1.

lis

2. will be
3. are

4. be
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IAnswer Key

5. (3)
10. (3)

1. (4) 2. (2)
6. (1) 7.(3)

IAnswers and Solutions

Q:1 The correct answer is option 4 i.e. without.
Since, communication is the act of thinking about
what we wish to say before uttering words, of
organizing the thoughts we wish others to hear
and discuss so they will result in an appropriate
action. Speaking just involves words.

The statment will use without in place of blank.

Q:2 The correct answer is option 2 i.e. because.
The correct option will be the conjunction because.

Because will be used since, we are focusing on the
reason that is not a good English speaker.

Example: She spoke quietly because she didn't
want Catherine to hear.

Q:3 The correct answer is option 4 i.e. people.
People will be used here in the place of blank.

Since the passage is about communication people
will be the correct choice.

Q:4 The correct answer is option 3 i.e. at

Correct preposition that will be used is ‘at’.

“At” is used when you are at the top, bottom or end
of something; at a specific address; at a general
location; and at a point.

We use at to describe a position or location seen
as a point:

Example:A fisherman waited near his nets at the
side of the quay. (position as a point)

There was no one at the information desk.
(Iocotion as a point)

We use at to describe locations including firms,
companies, workplaces and educational
institutions:

Example:Did you once work at Intel?

The ancient manuscript, The Book of Kells, can be
seen at Trinity College, Dublin.

Hence, option 3 will be the correct answer.

Q:5 The correct answer is option 3 i.e. each
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Each other will be the correct phrase.

We use each other to show that each person in a
group of two or more people does something to
the others.

There is very little difference between each
other and one another and we can normally use
them in the same places. Each other is more
common than one another.

Option 3 i.e. each will be the correct choice.

Q:6 The correct answer is option 1i.e. industrial.

In the sentence itself it is mentioned ‘consumer
and industrial products’.

Hence, adjective ‘industrial’ will be used for blank 5.

Q:7 The correct answer is option 3 i.e. such.

The sentence is trying to give us the examples of
home furnishing. Therefore, such will be used.

'Such as' is used to mean ‘for example.’
Hence, option 3 is the correct answer.

Q:8 The correct answer is option 4 i.e. including.
Let's see the meaning of the following words:
Counting: taking account of when reaching a total

Wrapping: paper or soft material used to cover or
enclose something.

Showing: the way in which something is argued or
represented.

Including: used for saying that a person or thing is
part of a particular group or amount.

The sentence is saying what all comes under the
consumer and industrial products, so including will
be used.

Hence, option 4 will be the correct answer.

Q:9 The correct answer is option 1 i.e. number.

The sentence is talking about the consumer
products hence, numbers will be used.

A large number of consumers products means a
lot of consumer products.

Hence, option 1is the correct answer.

Q:10 The correct answer is option 3 i.e. are.

Before the blank there is a plural noun, hence we
will use the plural verb after it.

So, plural verb are will be used.
Hence, the chosen option is correct.
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